MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST
(GCF-1, 3,4,5,6, 7+7A, 8+8A, 9, VCF-1,2, ACF-1,2, JCF-1)

DATE: 08.10.2023 MAXIMUM MARKS: 100 TIMING: 2 Hours
BUSINESS MATHEMATICS, REASONING & STATISTICS

1. Ans. a
Explanation:

AR & ¥ &9 9 W Igeedl & Ugaui dioFl & YelRid &) # ouig ane
URABROT BT UG AT 2 |

2. Ans. d
Explanation:

AN T

=A(l+i)" =10000/ (1+0.025)*
~10000/ (1.025)*

=10000/ (1.1038)

=Rs.9059.50

3. Ans. a
Explanation:

@t AN, i) = 2000, i=—°
100 x 12
HHT 9Jd Fel9 & ofd § A SU STHT BRI O © |
S et @ 9 g1 A(n, 1) = A
n\Nn 24 24
{(1“_) —1} :>2000=A{(1+0'005) —1}:A[(1.005) —1}
i 0.005 0.005
2000 0.005
A7
(1.005)** -1
A__ 10 10
1.1272-1 0.1272

=0.005,n =24

= 78.61 v%i

4, Ans. c
Explanation:
37,39, ... 119
Il =a+ (n-1)d
119 = 37 + (n-1)(2)
n =42

S, = g(a+l)=%(37 1+119) = 3276

5. Ans. d
Explanation:
x =e*

ylog x=x+Yy
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

X
~log x—1

dy logx-2
dx (log x —1)°

y

6. Ans. b
Explanation:

F=+VLxP
150% = 144 x P
P = 156.25

7. Ans. b
Explanation :

AT 6 HRY GEHE Mg x 99 & AR AR GF B g9 AR y a¥ 2, 1 TR,
x=3y ...>i)

AR x+5=g(y+5) (i)

THHT (1) &R (i), 3y+5=g(y+5)

= 6y+10=5y+25

=y=15

FHHROT (i) H 79 W@ ), X =3x15=45
3, W A Y = 45 qy

8. Ans. a
Explanation:
R
A = Z[@+1)"-1]
r
6000
= ——[(1+0.09) -1
0.09 [( ) -1
= Rs. 66170.84
9. Ans. a
Explanation:
First Time Second Time
A = 3x A=27X
P= P=x
n= n=7>2
r 6 r n
So3X=X|1+— = -
[ 100} 27x x{1+100}
6 n
r r
3={1+— 3 _ _
[ 100} 3 {H 100}

vzl i)
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

18 n
14— | =[1+-| =n=18
100 100

10. Ans. b
Explanation:

f(x) = JYX+/X+...0
= f(x) = X+ f(X)

On squaring both sides, we get
[FOOP = x+ (%)
differentiation both sides

2f(x) f'(x) = 1+f'(x)

f'(x) [2f(x)-1]=1

T

11. Ans. a
Explanation:
fSHATST Ty & FRETgaR
Declining Balance Depreciation Rate = 1 - (Salvage Value / Cost)”™(1/Years)
Rearrange
Salvage value
Salvage value

Cost x (1 - Depreciation rate)”~Years
10000 x (1 - 10%)~10 = 3,486.78

12. Ans. b
Explanation:
16000[(1 + 5%)3 - 1] = 2522

13. Ans. b
Explanation:

! . . .
M, N, O, P, Q Ud R &T RifeT aRviie 39 UK &
1T S | I8 A% 8 fb Q N Bl < @ 2|

kA )] [ )
-—| T
E‘
P M P lce

14. Ans. c

Explanation:

AT B SIS B 2 |
1 2 3 4 5 6 7

Y U

1 2 3 4 5 6 7
T Y w U
1 2 3 4 5 6 7
T Z Y W | U
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

1 2 3 4 5 6 7
T Z Y X W U
1 2 3 4 5 6 7
T Z )Y Y X W U
15. Ans. d
Explagation:
16. Ans. d
Explanation:
G X MY I Z A B T @ X AAY, Z D 9 I 98 B | IF Y, Z 1 de1 7
AT Y, ZH A B
17. Ans. c
Explanation:
Commodity R |W]|RW
I 110 | 3 | 330
II 120 | 3 | 360
ITI 70 |1 ] 70
Total 7 | 760
. 2RW 760
AIRT HHd gadid = —— =—=108.5
W 7
18. Ans. c
Explanation:

HeAT A : 50 9§ &7 Afdd 20 99 dd Silfad X
HeAT B : 6098 &1 Afdd 20 99 db Sifad &

5 5 6 6
P2 s PO =
14 14 14 14 49
19. Ans. a
Explanation:
32 0
Largest angle = %XSGO =128

Smallest angle

17 . 360 = 68°
90

Difference = 60°
20. Ans. a

Explanation:

FW DI B UMK DA GBI & JEHATIIT Bl © |
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

Ans. a
Explanation:

AT DI MY 3R 97 T fhed @l IR H gTHd Agdw il ¢ |

Ans. c
Explanation:
YA dh BT &hol Shls Bidl 2 |

Ans. b
Explanation:

ARY F B R AR ¥ ¥ e fdg R ufdese $xd € f MEDIAN %81 Sffdr & a1 84
T AgE T qHd B |

Ans. b
Explanation:
e ¥ ford A famei &1 orlordg O I g B
ST X (%=X X =25
10  -10 n
20 0 _ 10+20+30
30 10 3
0 = 20

e =X, -X)=0

Ans. a
Explanation:
Laspeyre's Price Index is based on base year Quantity.

>P
Since Formula is L=Axloo
00

Hence Qo is constant.

Ans. b
Explanation:

T ARUT BT FHUT HUR 91T FaH T 3R IU W™, gdhls A9 AfAford © diad 2 |

Ans. a
Explanation:
Q.D<M.D.<S.D

Ans. b
Explanation:

Ife Q=R rAedANd 8 d YHUTET WU ofFad s |

Ans. c
Explanation:

S & Hed [AdAT S B b ol fa=RoT qunids fager & A1 &1 GANT BT |

Ans. d
Explanation:
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

E = (1+L) _1{x100
100
6 2

_ (1+—j —1{%100=6.09%
200

31. Ans. d
Explanation:
No. of ways = 7C4 X 3C, + 7C3 X 3C3
= 105 + 35 = 140
32. Ans. d
Explanation:

(a,a), (b,b), (c,c) ER A R TAIT T ¥ |
« (a,b) €R and (b,a) ¢ R AAMT T &I 2 |
« (a,b), (b,c) ER TAT (a,c) & R3IT: R AHHEG T &l |

33. Ans. b
Explanation:

HIEY FHIGUId
a-»b a2b2

:\/a+b * a’ _ p?
ab

B a+b

34. Ans.c
Explanation:
ESRSCINEE RIS IS G T

R B & BRUN 7, N A g o el @
Id IY =10, ~7. +1
= 25

35. Ans. a
Explanation:

ey § 98 919 {79 9 U gRT Ui J8) fhar § g © |

36. Ans. c
Explanation:
> +x+2=0
x+p=-1,xB=2
(< +B)? =’ + B2 + 2 « B
1 =0 +p2+4
o«?+ B% = -3
2 2
x B _ o4 _ -3

B« o«f3 2
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

37.

38.

39.

40.

41.

42.

43.

Ans. c
Explanation:

Ans. c
Explanation:

>x2=n(c? + x ?)

Ans. d
Explanation:

ey < f4=dr

Ans. b
Explanation:
(AUB'")
=A'"nB
=B-A

Ans. c
Explanation:

R 2
(2]
100

8 2
SNEN
100

P =1,20,000

Ans. d
Explanation:

E= (1+L) _1|x100
100

2
= (1+ij —1|x100=6.09%
200

Ans. b
Explanation:

Xx10x7

Let the sum be Rs. x. Then, [

100x2

Xx12x5 _40
100x2
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

44,

45.

46.

47.

48.

49,

50.

7 3X 40 (40x20) =800
—_— = X =(40x20) = .
20 10 ~

Hence, the sum is Rs. 800.

Ans. b

Explanation:

Ts=a+4d =14 ..............s (i)
T12 =a+11d =35 ......eevuvs (||)
On solving equation (i) and (ii)
a=2

Ans. c
Explanation:
RNCARCARSSEC] = *P; x 4!

Ans. b
Explanation:
—2X+3y>6 dredl & X 3T W (=3, 0)
Y 3187 WX (0, 2)
qqm Y, Xd &I 2| A (B) fAwed | 7|

Ans. d
Explanation:

|

)
7\

H

+
=

[EEN
3|5
N
N

Ans. d
Explanation:
SI for 2 years = 5,680 - 5,200 = 480

SI for 5 years = 480

x5 =1,200

P = 5,200 - 1,200 = Rs. 4,000

100 x 1,200
Rate = bl lnhdit 6%
4,000 x5

Ans. b
Explanation:
= |09603 + |09604 + |09605
= logge60=1

Ans. c

Explanation:

1Rs. : 50P : 25P

4x, 5%, 6X
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

51.

52.

53.

54,

55.

56.

25 99 & gl & G&T = 6 x 15 = 90

4X +
100 100
x =15
Ans. d
Explanation:
fafir=T wreal @1 A

Ans. c
Explanation:

Ans. a
Explanation :

250x 150 x
+

=120

11!

T 414121

Black Red + White Ball
3 6

3C1 X 6C; + 3C2 X 6¢c; + 3C3 = 64

Ans. c
Explanation :
(A-B) uc

{2, 6,9y v {2,6, 8}

=1{2,6,8,9}

Ans. b
Explanation:

e e = ——x 325 =590.90
110

200

SRR B B I g 8|

Ans. a
Explanation :

Let cost of one chair and one table are x and y respectively, then

5x + 3y = 350
3x + 5y = 370

(i)
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

on solving eq" (i) and eq" (ii)
x =40,y =50
Cost of one table and two chairs is Rs. 130

57. Ans. a
Explanation :

No. of diagonals = n, —n
= 6,-6=9

58. Ans. a
Explanation :
n(AxB) = n(A) x n(B)
=5x3=15

59. Ans. a
Explanation:
5x+7y—-22=0

6x+2y—22=0

110
r=.|—
42

byx=—
y 7

2 5 \/wx‘/E
bxy =< 2 N2 oX=2.64 6

7 o X

60. Ans. b
Explanation:
Coefficient of range = 63
L+S
Where L= for largest value

S= for smallest value

Coefficient of range = 40-10 30 _3
40+10 50 5
61. Ans. b
Explanation:
G.M. = (2 x 2%x 23x 24x25x26)1/®
=27/2
62. Ans. b
Explanation:
HeMfaT o = %x325:590.90
e H¥ AT &1 814 83 T |
63. Ans. d
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

Explanation :

ST 5 A & ged A Wdd AT TN & 9gerd UR AT B 2

64. Ans. d
Explanation:

e33% 33 7332
o 1 2

m =150 x 2 =3 p(morethan2)=1-
100

e33% 33t 332
o 1 2

=1- =0.58

65. Ans. b
Explanation:

w=f = (oc+ ) —4ox B

=J(7)?-4-9) = /&5

66. Ans. a
Explanation:
z A X C Y B

67. Ans. c
Explanation:
H+2 =
0+2 =Q
N+2 =P
E+2 =G
Y+2 =A
Now,

68. Ans. C
Explanation:
MINK - M = INK

69. Ans. d
Explanation:
C+2=E+2=G+2=1
Then, J180P is wrong.

70. Ans. b
Explanation:
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

71.

72.

73.

74.

75.

76.

A
N \
w+ E 12
8
s 20
12

Correct direction SE
But best option South

Ans. b
Explanation:
+ R K+
M T
Ans. a
Explanation:
D )
T
Ans. c
Explanation:

B is the son of C but C is not the mother of B means C is the father of B.

A is married to C means A is the mother of B.

F is the brother of B means F is the son of A and C.

D is daughter of A means D is daughter A and C. A is the mother and hence
female. B is the son and hence male. C is the husband and hence male. D is the
daughter and hence female. E is the brother and hence male. F is the son and
hence male.

So, there are four males.

Ans. b
Explanation:
i, 10, 37, 118
1x3+7
10x3+7
37x3+7
118 x3 + 7

10
37
118
361

Ans. a
Explanation:
H+1=1 Now,
E+1=F
A+1-=
L+1=
T+1=
H+1-=

—CX2Xw
4002
++ + +
Ll T G Y
LI T [
Cnuoo

Ans. d
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

77.

78.

79.

80.

81.

82.

Explanation:

Ans. b
Explanatign:

"
/ R

S
Ans. b
Explanation:

w——e N
T o

Ans. c
Explanation:

Q

+
Father

(1) — Gy

Answer- Sister

Ans. c
Explanation:

2nd = (1st + 1) : 3rd = (2nd + 2); 4th = (3rd + 3); 5th = (4th +4).
IR<] 18 = BGd US & a¥IeR 78l 8 ? 5th + 5= 14 + 5 = 19.

Ans. a
Explanation:

L R

1
EIRE O E B[
T T

Ans. D
Explanation:

AT fo5 FBnpsT @) o 6X, 4X 3k 3X |
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

ar 6X +4x +3x =52
X=4
|IH B! ol & aFs = 3x4=12cm

83. Ans. b

Explanation:
n2 -1
12

n-1

12
n=7

4

84. Ans. a
Explanation:
N O d
Hidd [ddeld 3«iTH Zl% UIRdd- Q}[ Ad— eldl %\rl

85. Ans. C
Explanation:
= 25 = 2_5 =0.833
6x5 30

86. Ans. ¢
Explanation:

Z=3m-2X
18 =3m - 48
66 = 3m
m = 22

87. Ans. d
Explanation:
50 x 2850 - 8000 + 7800
= 2846

88. Ans. c
Explanation: _
JUETRT HH TAT AYeTRH AfTH ARV BT Ufcress a5 Alg®T 2 |

89. Ans. d
Explanation:

ST HT g SURIGd T4 BT FohT 2 |

90. Ans. c
Explanation:

TR faaRer &1 fawsdr s 86|

91. Ans. ¢
Explanation:
HFT D YHHT =X |
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CA FOUNDATION- MOCK TEST

92.

93.

94.

95.

96.

97.

98.

Ans. c

Explanation:
A:B=4:5]x7
B:C=7:8]x5
A:B:C=28:35:40

Ans. b

Explanation:

91 GI GZI G3l G4I 288
| = ar™!

ar=9x2 =18
ar’ =9x4 =36
ar’ =9x8=72
ar* =9 x 16 = 144

)
N
(1 T | |

Ans. c
Explanation:

Jix(xz log )

=x2.1+2xlogx
X

=X (1+ 2 log x)

Ans. a
Explanation:

AT & AR TR IR0 SIS FHATTIR GTHR0T 7 |

Ans. c
Explanation:

NewMean=

SN

Ans. d
Explanation:

Zplqg Zplql
Py; = ’ =—x100 = 94.88
01 ZPOQOXZPOqlx

Ans. b
Explanation:
1 1
X J—
X
E
2

X

1,1
375

2
X =

New Mean= Kol +10
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

99. Ans. c
Explanation:

e | o T gt &1 Sor O = g 2

TETERT X v: _ .
(Xi-X) X=X
10 -10 n
20 0 _ 10+20+30
30 10 3
0 =20

3T Z(Xi —R):O

100. Ans.b
Explanation:

X P PX
5 1/3 5/3

6 1/4 6/4

7 5/12 | 35/12

5 6
_+_
3 4
20+1

35

12
+35

8 =6.08

12

k%
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